
11 

15 

14 

13 

12 

17 

01 

04 

05 

06 

07 

-ff-+-lt::--
_;;;;;;;;;;=----1�

08 

10 
Sku# 10131 

16 

NO. Component parts Quantity Material Size & spec 

01 

02 

03 

04 

05 

06 

07 

08 

09 

10 

11 

12 

13 

14 

15 

16 

Handle 1 

Cover 1 

Screw 1 

Decorative ring 1 

Fixing Nut 1 

Cartridge 1 

Body 1 

Rubber Cover 1 

Screw 1 

Fast Fix 1 

Screw 1 

Wearproof Ring 1 

O-Ring 2 

Wearproof Ring 1 

Spout 1 

Aerator set 1 

Zinc 

ABS 

SS M5X8 

H59 M42Xl. 25 

H59 M42Xl. 25 

BS+CERAMI 

H59 

NBR 14. 5X2

SS M5X12 

Zinc ei> 44X80 

SS M4X8 

POM <l> 19X6 

NBR ei> 18X ei> 2. 6 

POM ei> 22X8 

H62 ei> 24X0. 8 

H59+ABS M24Xl 

1 7 Inlet pipe 2 Assembly M10X1•500 

Quantity 1 Material 

SKU# Memo 

H59 

Agrion Kitchen Without Dishwasher Valve Chrome 

Coating difference With 10131 Handle difference with 10131 

1 10151 Brushed Black Chrome 10112 

2 10132 Brushed Steel 

3 10153 Antic Brass

Designer Grana Team Draft ing Da te 1 June.2007 

Copyright ©2007-2017 GRANA OY, All Rights Reserved 

90070

90357

90347

90090

90025

90030

90344

90029

90023

90276

90313

90345

90001

90008

90038

90278

90053

Grana Empis




